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UNIT-1 / g&18-1
L. (a) Show that /2 is not a rational number.
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(b) Find the limit points of the set of integers (Z) and set of rational numbers
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A M:va that union of two closed sets is a closed set.
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Show that an open internal (a, b) of R is not compact.
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If {xa} is a convergent sequence, then show that its limi
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Prove that the sequence {Xn}, where - X
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4. (a)  Prove thatevery Cauchy sequence 1§ DOULEE=
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does not exist.
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continuous on the origin -

(a) Show that  lim (
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(b)  Find a number & s0 that the following function 15
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if (x,y) = (0,0)
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6. @y Verify Rolle’s Theorem for the following function -
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f(x)=e*sinx; ¥ x € [0, 7]
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f(x) =e*sinx: V x € [0, 7]

(b) Show that the following function is not differentiable at (0.0) -
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tion is not R-integrable on [0,1] -

how that the following func
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f(¥) = 11 .ifxis irrational
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(a)  Show that the functions f(x) = [x] is R-integrable is [0, 3] and find the
value of -
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(b) If f, g€ R[a, b], then show that (f+g) € R[a, b].
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(a) Test the uniform convergence of {fu(x)}, where -
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(b) Show that the following series converges uniformly on R -
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Show that the series whose sum of n terms is following, can be integrated

term by term -
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for term by term integration -
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